	BID SUMMARY			1715 67th Ave East	LLC 2704 105th Street East	One Ajax Drive	6450 31st Street East	Westra Construction Corp. 1263 12th Avenue East Palmetto, FL 34221
ITEM NO.	DESCRIPTION	UNITS	QTY.	TOTAL BID PRICE	TOTAL BID PRICE	TOTAL BID PRICE	TOTAL BID PRICE	TOTAL BID PRICE
1	Bid "A" Based on Completion Time of 180 Calendar Days	LS	1	\$398,236.85	\$438,470.92	\$390,194.59	\$404,694.47	No Bid
2	Bid "B" Based on Completion Time of 210 Calendar Days	LS	1	No Bid	\$438,471.92	\$390,195.59	\$404,695.47	\$610,596.80

BID "A"- BASED ON 180 CALENDAR DAYS

C-Squared Certified General
Contractors, Inc.

Gator Grading & Paving, LLC

Ajax Paving Industries of Florida,
LLC.

Woodruff & Sons, Inc.

1715 67th Ave East
Sarasota, FL

Palmetto, FL 34221

North Venice, FL 34275

Bradenton, FL 34203

					Sarasota, FL		Palmetto, FL 34	221	North Venice, FL	34275	Bradenton, FL 34	4203
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL QTY.	UNITS	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
		ROADWAY										
1.	101-1	MOBILIZATION	1	LS	\$33,500.00	\$33,500.00	\$21,620.00	\$21,620.00	\$35,000.00	\$35,000.00	\$104,928.74	\$104,928.74
2.	102-1	MAINTENANCE OF TRAFFIC (MOT)	1	LS	\$59,500.00	\$59,500.00	\$50,135.00	\$50,135.00	\$64,000.00	\$64,000.00	\$33,863.11	\$33,863.11
3.	0104-10-3	SEDIMENT BARRIER	650	LF	\$8.00	\$5,200.00	\$4.20	\$2,730.00	\$3.45	\$2,242.50	\$3.79	\$2,463.50
4.	0110-2-1	CLEARING & GRUBBING, INCLUDING CONCRETE CURB REMOVAL	0.5	AC	\$41,500.00	\$20,750.00	\$73,443.00	\$36,721.50	\$64,500.00	\$32,250.00	\$44,171.52	\$22,085.76
5.	0120-1	REGULAR EXCAVATION	288	CY	\$32.75	\$9,432.00	\$96.00	\$27,648.00	\$19.00	\$5,472.00	\$22.01	\$6,338.88
6.	0120-6	EMBANKMENT (REGULAR)	170	CY	\$85.00	\$14,450.00	\$33.00	\$5,610.00	\$27.85	\$4,734.50	\$19.79	\$3,364.30
7.	0160-4	12" TYPE B STABILIZATION (LBR 60)	1,513	SY	\$22.00	\$33,286.00	\$12.00	\$18,156.00	\$26.00	\$39,338.00	\$13.73	\$20,773.49
8.	0285-709	10" OPTIONAL BASE GROUP 9	1,446	SY	\$40.00	\$57,840.00	\$24.40	\$35,282.40	\$37.00	\$53,502.00	\$28.26	\$40,863.96
9.	0327-70-1	MILLING EXISTING ASPHALT PAVEMENT, 1" AVERAGE DEEP	2,330	SY	\$6.00	\$13,980.00	\$3.95	\$9,203.50	\$4.25	\$9,902.50	\$5.94	\$13,840.20
10.	0334-1-23	2 " SUPER PAVE ASPHALTIC CONC, TRAFFIC C, SP 12.5	144	TN	\$148.50	\$21,384.00	\$323.00	\$46,512.00	\$167.75	\$24,156.00	\$153.60	\$22,118.40
11.	0337-7-42	1" ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC 9.5	292	TN	\$162.40	\$47,420.80	\$335.00	\$97,820.00	\$144.30	\$42,135.60	\$168.00	\$49,056.00
12.	0430-174-215	PIPE CULVERT, OPTIONAL MATERIAL , OTHER SHAPE (ERCP)12"X18"/SD	48	LF	\$143.35	\$6,880.80	\$80.50	\$3,864.00	\$147.65	\$7,087.20	\$104.50	\$5,016.00
13.	0430-982-125	MES, OPTIONAL, (ERCP) 12"X18"/SD	2	EA	\$1,650.00	\$3,300.00	\$1,999.00	\$3,998.00	\$1,175.00	\$2,350.00	\$2,563.28	\$5,126.56
14.	0520-1-10	CONCRETE CURB & GUTTER, TYPE F, INCLUDING CONTRETE FLUMES	278	LF	\$30.00	\$8,340.00	\$39.00	\$10,842.00	\$23.15	\$6,435.70	\$36.34	\$10,102.52
15.	0522-1	CONCRETE SIDEWALK 4" THICK, INCLUDING HANDICAP RAMP	10	LF	\$90.00	\$900.00	\$163.00	\$1,630.00	\$168.50	\$1,685.00	\$174.64	\$1,746.40
16.	0527-2	DETECTABLE WARNINGS	20	SF	\$41.50	\$830.00	\$46.00	\$920.00	\$28.80	\$576.00	\$38.50	\$770.00
17.	0570-1-2	PERFORMANCE TURF, SOD	900	SY	\$3.35	\$3,015.00	\$4.00	\$3,600.00	\$4.60	\$4,140.00	\$3.89	\$3,501.00
		SUBTOTAL (ROADWAY ONLY)				\$340,008.60		\$376,292.40		\$335,007.00		\$345,958.82
		SIGNING & MARKING										
	0700-5-5	SINGLE SIGN POST (RELOCATE)	2	AS	\$120.00	\$240.00	\$261.00	\$522.00	\$230.00	\$460.00	\$239.99	\$479.98
19.	0700-1-11	SINGLE SIGN POST (FURNISH & INSTALL)	1	AS	\$150.00	\$150.00	\$521.00	\$521.00	\$460.00	\$460.00	\$479.99	\$479.99
	0711-11-123	THERMO SOLID STRIPE (WHITE) (12")	162	LF	\$5.45	\$882.90	\$5.25	\$850.50	\$4.60	\$745.20	\$4.80	\$777.60
21.	0711-11-125	THERMO SOLID STRIPE (WHITE) (24")	60	LF	\$10.00	\$600.00	\$7.85	\$471.00	\$6.90	\$414.00	\$7.20	\$432.00
22.	0711-11-131	THERMO STRIPE SKIP (WHITE) (6")	0.08	GM	\$2,250.00	\$180.00	\$2,605.00	\$208.40	\$2,300.00	\$184.00	\$2,399.95	\$192.00
23.	0711-11-170	DIRECTIONAL PAVMT ARROWS (THERMO)	9	EA	\$105.00	\$945.00	\$91.15	\$820.35	\$80.75	\$726.75	\$84.00	\$756.00
24.	0711-11-160	PVMT MESSAGES, THERMO (ONLY)	3	EA	\$280.00	\$840.00	\$261.00	\$783.00	\$230.70	\$692.10	\$239.99	\$719.97
25.	0711-15-101	THERMO SOLID STRIPE (WHITE) (6")	0.20	NM	\$10,400.00	\$2,080.00	\$7,162.00	\$1,432.40	\$6,345.00	\$1,269.00	\$6,599.86	\$1,319.97

BID "A"- BASED ON 180 CALENDAR DAYS					1		Gator Grading & Paving, LLC 2704 105th Street East Palmetto, FL 34221		Ajax Paving Indu LLC. One Ajax Drive North Venice, FL		Woodruff & Sons, Inc. 6450 31st Street East Bradenton, FL 34203	
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL QTY.	UNITS	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
26.	0711-15-201	THERMO SOLID STRIPE (YELLOW) (6")	0.24	NM	\$10,400.00	\$2,496.00	\$7,162.00	\$1,718.88	\$6,345.00	\$1,522.80	\$6,599.86	\$1,583.97
27.	0711-11-224	THERMO SOLID STRIPE (YELLOW) (18")	40	LF	\$7.00	\$280.00	\$6.55	\$262.00	\$5.75	\$230.00	\$6.00	\$240.00
		SUBTOTAL (SIGNING & MARKING ONLY)				\$8,693.90		\$7,589.53		\$6,703.85		\$6,981.47
		SIGNALIZATION										
28.	0630-2-11	CONDUIT, FURNISH & INSTALL, OPEN	30	LF	\$16.50	\$495.00	\$17.60	\$528.00	\$15.50	\$465.00	\$18.00	\$540.00
29.	0630-2-12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	10	LF	\$32.50	\$325.00	\$36.00	\$360.00	\$31.70	\$317.00	\$54.00	\$540.00
30.	0632-7-2	SIGNAL CABLE, REPAIR/REPLACE/OTHER, FURNISH & INSTALL	440	LF	\$7.15	\$3,146.00	\$8.05	\$3,542.00	\$7.10	\$3,124.00	\$6.00	\$2,640.00
31.	0646-1-40	ALUMINUM SIGNAL POLE, RELOCATE	2	EA	\$1,550.00	\$3,100.00	\$1,700.00	\$3,400.00	\$1,500.00	\$3,000.00	\$1,799.96	\$3,599.92
	0650-1-19	VEHICULAR TRAFFIC SIGNAL, F&I, S SECTOR CLUSTER, 1 WAY	1	AS	\$1,900.00	\$1,900.00	\$2,105.00	\$2,105.00	\$1,865.00	\$1,865.00	\$2,999.94	\$2,999.94
33.	0670-5-400	TRAFFIC CONTROLLER ASSEMBLY, MODIFY	1	AS	\$2,200.00	\$2,200.00	\$2,425.00	\$2,425.00	\$2,145.00	\$2,145.00	\$1,799.96	\$1,799.96
34.	0700-1-11	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF SIGN PANEL, FURNISH & INSTALL GROUND	2	AS	\$650.00	\$1,300.00	\$717.00	\$1,434.00	\$635.00	\$1,270.00	\$539.99	\$1,079.98
	0700-3-101	MOUNT, UP TO 12 SF	2	EA	\$145.00	\$290.00	\$159.00	\$318.00	\$140.00	\$280.00	\$120.00	\$240.00
	0700-3-601	SIGN PANEL, REMOVE UP TO 12 SF	2	EA	\$25.00	\$50.00	\$21.50	\$43.00	\$19.00	\$38.00	\$12.00	\$24.00
37.	0700-5-50	INTERNALLY ILLUMINATED SIGN, RELOCATE	1	EA	\$525.00	\$525.00	\$573.00	\$573.00	\$507.50	\$507.50	\$1,499.97	\$1,499.97
	I	SUBTOTAL (SIGNALIZATION ONLY)				\$13,331.00		\$14,728.00		\$13,011.50		\$14,963.77
	TOTAL BASE BID "A" - Based on Completion Time of 180 Calendar Days					\$362,033.50		\$398,609.93		\$354,722.35		\$367,904.06
	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)					\$36,203.35		\$39,860.99		\$35,472.24		\$36,790.41
	. OFFER FOR I	BID "A" with Contract Contingency - Based o	pletion 1	Γime of <u>180</u>	\$398,236.85		\$438,470.92		\$390,194.59		\$404,694.47	

BID "B"- BASED ON 210 CALENDAR DAYS

Ajax Paving Industries of Florida,
LLC.
Woodruff & Sons, Inc.
Westra Construction Corp.

2704 105th Street East
Palmetto, FL 34221
North Venice, FL 34275
Bradenton, FL 34203
Palmetto, FL 34221

					Palmetto, FL 34221		North Venice, FL 34275		Bradenton, FL 34203		Paimello, FL 3422	
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL QTY.	UNITS	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
		ROADWAY										
1.	101-1	MOBILIZATION	1	LS	\$21,620.00	\$21,620.00	\$35,000.00	\$35,000.00	\$104,928.74	\$104,928.74	\$211,000.00	\$211,000.00
2.	102-1	MAINTENANCE OF TRAFFIC (MOT)	1	LS	\$50,135.00	\$50,135.00	\$64,000.00	\$64,000.00	\$33,863.11	\$33,863.11	\$55,250.00	\$55,250.00
3.	0104-10-3	SEDIMENT BARRIER	650	LF	\$4.20	\$2,730.00	\$3.45	\$2,242.50	\$3.79	\$2,463.50	\$1.80	\$1,170.00
4.	0110-2-1	CONCRETE CURB REMOVAL	0.5	AC	\$73,443.00	\$36,721.50	\$64,500.00	\$32,250.00	\$44,171.52	\$22,085.76	\$52,500.00	\$26,250.00
5.	0120-1	REGULAR EXCAVATION	288	CY	\$96.00	\$27,648.00	\$19.00	\$5,472.00	\$22.01	\$6,338.88	\$8.20	\$2,361.60
6.	0120-6	EMBANKMENT (REGULAR)	170	CY	\$33.00	\$5,610.00	\$27.85	\$4,734.50	\$19.79	\$3,364.30	\$37.90	\$6,443.00
7.	0160-4	12" TYPE B STABILIZATION (LBR 60)	1,513	SY	\$12.00	\$18,156.00	\$26.00	\$39,338.00	\$13.73	\$20,773.49	\$33.65	\$50,912.45
8.	0285-709	10" OPTIONAL BASE GROUP 9	1,446	SY	\$24.40	\$35,282.40	\$37.00	\$53,502.00	\$28.26	\$40,863.96	\$47.75	\$69,046.50
9.	0327-70-1	MILLING EXISTING ASPHALT PAVEMENT, 1" AVERAGE DEEP	2,330	SY	\$3.95	\$9,203.50	\$4.25	\$9,902.50	\$5.94	\$13,840.20	\$5.80	\$13,514.00
10.	0334-1-23	2 " SUPER PAVE ASPHALTIC CONC, TRAFFIC C, SP 12.5	144	TN	\$323.00	\$46,512.00	\$167.75	\$24,156.00	\$153.60	\$22,118.40	\$150.00	\$21,600.00
11.	0337-7-42	1" ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC 9.5	292	TN	\$335.00	\$97,820.00	\$144.30	\$42,135.60	\$168.00	\$49,056.00	\$164.00	\$47,888.00
12.	0430-174-215	PIPE CULVERT, OPTIONAL MATERIAL , OTHER SHAPE (ERCP)12"X18"/SD	48	LF	\$80.50	\$3,864.00	\$147.65	\$7,087.20	\$104.50	\$5,016.00	\$122.00	\$5,856.00
13.	0430-982-125	MES, OPTIONAL, (ERCP) 12"X18"/SD	2	EA	\$1,999.00	\$3,998.00	\$1,175.00	\$2,350.00	\$2,563.28	\$5,126.56	\$2,330.00	\$4,660.00
14.	0520-1-10	CONCRETE CURB & GUTTER, TYPE F, INCLUDING CONTRETE FLUMES	278	LF	\$39.00	\$10,842.00	\$23.15	\$6,435.70	\$36.34	\$10,102.52	\$44.45	\$12,357.10
15.	0522-1	HANDICAP RAMP	10	LF	\$163.00	\$1,630.00	\$168.50	\$1,685.00	\$174.64	\$1,746.40	\$169.00	\$1,690.00
16.	0527-2	DETECTABLE WARNINGS	20	SF	\$46.00	\$920.00	\$28.80	\$576.00	\$38.50	\$770.00	\$41.00	\$820.00
17.	0570-1-2	PERFORMANCE TURF, SOD	900	SY	\$4.00	\$3,600.00	\$4.60	\$4,140.00	\$3.89	\$3,501.00	\$3.20	\$2,880.00
		SUBTOTAL (ROADWAY ONLY)				\$376,292.40		\$335,007.00		\$345,958.82		\$533,698.65
		SIGNING & MARKING										
18.	0700-5-5	SINGLE SIGN POST (RELOCATE)	2	AS	\$261.00	\$522.00	\$230.00	\$460.00	\$239.99	\$479.98	\$234.00	\$468.00
19.	0700-1-11	SINGLE SIGN POST (FURNISH & INSTALL)	1	AS	\$521.00	\$521.00	\$460.00	\$460.00	\$479.99	\$479.99	\$468.00	\$468.00
20.	0711-11-123	THERMO SOLID STRIPE (WHITE) (12")	162	LF	\$5.25	\$850.50	\$4.60	\$745.20	\$4.80	\$777.60	\$4.70	\$761.40
21.	0711-11-125	THERMO SOLID STRIPE (WHITE) (24")	60	LF	\$7.85	\$471.00	\$6.90	\$414.00	\$7.20	\$432.00	\$7.00	\$420.00
22.	0711-11-131	THERMO STRIPE SKIP (WHITE) (6")	0.08	GM	\$2,605.00	\$208.40	\$2,300.00	\$184.00	\$2,399.95	\$192.00	\$2,340.00	\$187.20
23.	0711-11-170	DIRECTIONAL PAVMT ARROWS (THERMO)	9	EA	\$91.15	\$820.35	\$80.75	\$726.75	\$84.00	\$756.00	\$81.85	\$736.65
24.	0711-11-160	PVMT MESSAGES, THERMO (ONLY)	3	EA	\$261.00	\$783.00	\$230.70	\$692.10	\$239.99	\$719.97	\$234.00	\$702.00
25.	0711-15-101	THERMO SOLID STRIPE (WHITE) (6")	0.20	NM	\$7,162.00	\$1,432.40	\$6,345.00	\$1,269.00	\$6,599.86	\$1,319.97	\$6,430.00	\$1,286.00
26.	0711-15-201	THERMO SOLID STRIPE (YELLOW) (6")	0.24	NM	\$7,162.00	\$1,718.88	\$6,345.00	\$1,522.80	\$6,599.86	\$1,583.97	\$6,430.00	\$1,543.20
27.	0711-11-224	THERMO SOLID STRIPE (YELLOW) (18")	40	LF	\$6.55	\$262.00	\$5.75	\$230.00	\$6.00	\$240.00	\$5.85	\$234.00

BID "B"- BASED ON 210 CALENDAR DAYS

Ajax Paving Industries of Florida,
Gator Grading & Paving, LLC

2704 105th Street East
Palmetto, FL 34221

Ajax Paving Industries of Florida,
Woodruff & Sons, Inc.
Westra Construction Corp.
1263 12th Avenue East
Palmetto, FL 34221

Palmetto, FL 34221

Palmetto, FL 34221

					Paimello, FL 342	4 I	North Venice, F	L 34273	Bradenton, FL 34	200	Paimello, FL 3422	1
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL QTY.	UNITS	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
		SUBTOTAL (SIGNING & MARKING ONLY)				\$7,589.53		\$6,703.85		\$6,981.47		\$6,806.45
		SIGNALIZATION										
28.	0630-2-11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	30	LF	\$17.60	\$528.00	\$15.50	\$465.00	\$18.00	\$540.00	\$17.50	\$525.00
		CONDUIT, FURNISH & INSTALL, DIRECTIONAL										
29.	0630-2-12	BORE	10	LF	\$36.00	\$360.00	\$31.70	\$317.00	\$54.00	\$540.00	\$52.65	\$526.50
		SIGNAL CABLE, REPAIR/REPLACE/OTHER,										
30.	0632-7-2	FURNISH & INSTALL	440	LF	\$8.05	\$3,542.00	\$7.10	\$3,124.00	\$6.00	\$2,640.00	\$5.85	\$2,574.00
31.	0646-1-40	ALUMINUM SIGNAL POLE, RELOCATE	2	EA	\$1,700.00	\$3,400.00	\$1,500.00	\$3,000.00	\$1,799.96	\$3,599.92	\$1,755.00	\$3,510.00
		VEHICULAR TRAFFIC SIGNAL, F&I, S SECTOR										
32.	0650-1-19	CLUSTER, 1 WAY	1	AS	\$2,105.00	\$2,105.00	\$1,865.00	\$1,865.00	\$2,999.94	\$2,999.94	\$2,925.00	\$2,925.00
33.	0670-5-400	TRAFFIC CONTROLLER ASSEMBLY, MODIFY	1	AS	\$2,425.00	\$2,425.00	\$2,145.00	\$2,145.00	\$1,799.96	\$1,799.96	\$1,755.00	\$1,755.00
		SINGLE POST SIGN, F&I GROUND MOUNT, UP										
34.	0700-1-11	TO 12 SF	2	AS	\$717.00	\$1,434.00	\$635.00	\$1,270.00	\$539.99	\$1,079.98	\$525.00	\$1,050.00
		SIGN PANEL, FURNISH & INSTALL GROUND										
35.	0700-3-101	MOUNT, UP TO 12 SF	2	EA	\$159.00	\$318.00	\$140.00	\$280.00	\$120.00	\$240.00	\$117.00	\$234.00
36.	0700-3-601	SIGN PANEL, REMOVE UP TO 12 SF	2	EA	\$21.50	\$43.00	\$19.00	\$38.00	\$12.00	\$24.00	\$11.70	\$23.40
37.	0700-5-50	INTERNALLY ILLUMINATED SIGN, RELOCATE	1	EA	\$573.00	\$573.00	\$507.50	\$507.50	\$1,499.97	\$1,499.97	\$1,460.00	\$1,460.00
		SUBTOTAL (SIGNALIZATION ONLY)				\$14,728.00		\$13,011.50		\$14,963.77		\$14,582.90
	TOTAL BASE BID "B" - Based on Completion Time of 210 Calendar Days							\$354,722.35		\$367,904.06		\$555,088.00
	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL) 10%							\$35,472.24		\$36,790.41		\$55,508.80
	L OFFER FOR dar Days	BID "B" with Contract Contingency - Based	\$438,470.92		\$390,194.59		\$404,694.47		\$610,596.80			